Self Assessment RSPT 2350: Module I – Renal System

1. What are the three functions of the kidneys to regulate the concentration of body fluids

A. ________________________ 

B. ________________________

C. ________________________

2. Where is aldosterone secreted from: __________________________________

3. What does aldosterone do to regulate fluid balance: ______________________

4. Name the functional unit of the kidney. _________________________________

5. Trace the flow of filtrate through the kidney starting at Bowman’s Capsule.

6. The % of cardiac output that perfuses the kidney is referred to as the renal fraction.  What is the normal renal fraction? _____________________________

7. How many mL of  the glomerular blood flow is filtered out each minute?(This is called the glomerular filtration rate) _____________________________

8. How much of this initial glomerular filtration rate remains to become urine? ____________

9. The glomerular blood flow is a    

A. High pressure system   

B. Low pressure system

10. Trace the blood flow through the kidney

11. Name the three categories of renal failure  

A. ___________________________ 

B. ___________________________

C. ___________________________

12. A mean blood pressure less than _______________ mm Hg can cause severe ischemia to the kidney.

13. Name two functions of Angiotensin II

A. ___________________________

B. ___________________________

14. Drugs used to prevent the formation of Angiotension II are called ______________________________________________________________.

15. The urine pH can be   

A. Acid   

B. Alkaline    

C. Either acid or alkaline

16. Name three constituents in the blood that should not be normally filtered at the glomerulus.

A. ___________________________

B. ___________________________

C. ___________________________

17. The glomerulus is found in the

A. Renal Cortex

B. Renal Medulla

18. Name the three important buffer systems in the kidney. 

A. __________________________

B. ___________________________

C. ___________________________

19. Diuretics prevent the reabsorption of

A. NaCl

B. NaHCO3
C. Both A & B

20. Which of the following is a loop diuretic?

A. Diamox

B. Osmitrol

C. Diuril

D. Aldactone

E. Lasix

21. Acetazolamide (Diamox) is used to treat

A. Respiratory acidosis

B. Respiratory alkalosis

C. Metabolic acidosis

D. Metabolic alkalosis

22. A example of a potassium sparing diuretic is: (more than one answer)

A. Aldactone

B. Amiloride

C. Lasix

D. Osmitrol

E. Bumex

23. An acidosis (( pH) results in

A. Hyperkalemia

B. Hypokalemia


C. No change in K+ levels

24. Why is anemia one of the cardinal signs of renal failure?

25. Define

A. Anuria __________________________________________

B. Oliguria _________________________________________

C. Polyuria _________________________________________

26. What is glomerularnephritis? 

